Unit 3 Human Environment Interaction
Quiz

Total points  18/18 0

Do your best!

The respondent's email address (bradye@dearbornschools.org) was recorded on submission of this
form.

## First Name Last Name *

Mrs. Brady's Class

v 1) What are 4 main types of land use? (Check 4 boxes to get all 4 4/4
points) *

Industrial v

Infastruction

Mining v
Mirroring

Farming v
Cropping

Recreational v

Reusable



v 2) What causes the most water and air pollution? * 1/1

aniimals

@ humans

v 3) In the early 1900s many people migrated to Highland Park, /1

Michigan to earn $5.00 a day in a new industry that began to
thrive. In 2008 the same industry began a rapid decline with
some people having to leaving the state. Which industry was

this? *

@ automotive
farming
factory work
lumber

mining

v 4) All of the students at Smith Elementary School are involved in 1/1
a recycling project. How will this directly impact the
environment? *

They will be doing community service.
They will be future leaders.
@ They will be putting less waste in landfills.

They will feel good about themselves.



v 5) What do we know about growing seasons? * /1
Growing seasons are longest near the Arctic Circle.
@ Growing seasons are longest in southern regions. v
South America can grow less crops than Canada.

Growing seasons are the same length in all states.

v 6) In regards to growing seasons we know: * 11
Michigan has a shorter growing season than Ohio has
New York has a longer growing season than Chicago has
Alaska can grow a greater variety of crops than Florida can

@ Michigan can grow a greater variety of crops than Canada can v

v 7) What human factors are affected by the geographic location in1/1
which people live? *

(a) the color of houses they live in
(b) the size of the houses they live in
(® (c) the materials their houses are made from v

(d) the cost of the houses they live in



v 8. Where would you find a house made of stilt? * /1
Midwest
Great Plains
Great Lakes
@ Dessert region v

Appalachian Mountains

v 9. What main factor often determined the type of houses built by 1/1
many pioneers? *

(a) The number of people who could help them.
@ (b) The natural resources they could find. Ve
(c) The type of houses they were used to.

(d) The amount of money they had.

v 10. Which of the following is a result of building sod, log or stilt 1/1
houses? *

(® (a) destroying resources v
(b) adapting to the environment
(c) adapting to human needs

(d) saving the economy



v 11. Many people migrate from one country to another. What is an1/1
important reason why many of these people want to leave their
countries? *

(® push factors v

pull factors

v 12. What is an important reason why people might choose to 11
move to the United States? *

push factors

® pull factors v

v 13. Which of these conditions is NOT considered to be a push 1/
factor? *

war
famine
no jobs

® freedom v

v 14. Why would an area of New York be referred to as “Little /1
ltaly”? *

(a) It is the same shape as ltaly.

(b) People can only speak ltalian there, and others are left out.

@ (c) many people from Italy moved there from Italy and practiced their v
cultural traditions together

(d) the town is owned by Italy so they only let Italians live there.



v/ 15. People from many different countries live in New York City. 171
Children speaking many different languages attend its public
schools. Why does New York City have so many different
languages? *

@ New York is a port of entry (Ellis Island) for people from other parts of the
world.

New York has a higher wage rate than other United States cities.
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